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Trigonometry - Equations and Identities Lesson #1: Solving First Degree Trigonometric Equations S
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Assignment
1. Thcdlagmmshowsthegraphoftheequanonsy-cosxandy-OSmOsxs2:t
a) Explain how to use the graph to determine the ° ¢ AmEE i O
approximate solutions to the equation T
cosx=05, 0sxx2n. 1 T
'7{‘\«\% i-\ioo(dl aakS of pom‘\' ol \n¥rsection. \\ /= i
two ax | at
Jphs . N/
b) Write the solutions to the equation £
cosx=05,0sxs2m T T 1]
Give solutions as exact values. ( INNENEIREEEE

¢) Write the geneml solution to the equation cos x = 0.5.

X= Efanﬂ“ sﬂ‘+anﬂ“ n%l‘

2. 'Ihedmgramshowsthegraphoftheequauony-tanx 1 on the

domain 0 < x < 2.

a) Explain how to use the graph to determine s . T
the approximate solutions to l 4 14
the equationtanx = 1, 0 < x < 2. — —_— - .

= ~5glviod s T

c) Wntethegcneralsolutiontothe 2 jontanx=1.
=TT 0t T diftutne 5

. Determine the solution to each of the following equations, defined on the domain
-0 s x = 2n, using a graphical approach. Give solutions as exact values.

a) sinx-—\/zz b) tanx=~-1 . c) 2secx-4=0 X ’

T 56()( ;, -2COdA © =

X= 1\ W oaT X= 3—\r 7 iy I8
25 a9 -I T

. Use the solutions in #3 to write the general solutions to the equations.

a) smx--\/g— X{g +Ar\'“\,«ﬂbf ranfh, neL

b) tenrol i‘—r i ne6L

) 2secx-4=0

e X:If&r\ﬂv‘ g«— &r\ﬂ\') ne L
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S. Determine the solution (to the nearest hundredth) to each of the following equations,
O deﬁnedonthedomainOsxsZn,usingagraphlcalapproach.

: !
2) cosx=06 b) cotxm—3 TANX="8 cox_3.0 'sm)(s3
X=0-°l3;3'.5b x-.\,&?,st:os X“O.?)"’,J.ESD

6. Use the solutions in #5 to write the general solutions to the equations.

a) cosx=0.6 X %.9% \'A(\'“',$.3b‘\'3rmq,ﬂ(7]:
b) cotx--% X =g +nneT

9 escx-320 X=0 -3 +inf,2 Jotaal NEL

7. Determine the solution to each of the following equations, defined on the domain
0 < x s 2%, using an algebraic approach.
a) 2sinx= -\/3 b) cotx++/3 =0 c) 3secx+6=0

s"\x__,_ -_{_;S_ Co-‘-x; = E . S((,X > —J 4 COSX ® -3"
R 3[4 > hanes! -3 Qat3
(bl T - T iy T3
: el X=1-T TtT|
e Tl T “;r T
- - a - .
O &,q\% :Sﬂ—lb x> Tlilr " %'ﬂ;_

8. Use the solutions in #7 to write the §eherd solutions to the equations.

a) 2sinx= -\/3 X:‘ﬂ{_}&n‘f' g_r.\.an'“.' nel
?
b) cotx++/3 =0 X= 51].—-\—!\“,'\61
b
c) 3secx+6=0 X’%r,‘,;r\'\"j"%["'éﬂmel

9. Determine the general solution to the following equations where x is in degree measure.
Answer to the nearest degree. R

a) cos x = -0.639 " b)Scscx+6=0 (X Tb  giax: %_‘
Q)- ""L’ ° S
on O'L-\)b(e;oo' 50 Q 1&""“ . f&[’[: S(,' | .
X =50 50, %0tS0 N WExE3e’, X =1%0" 45, 360" T
X = {3q° ,37)0’ X =J\36°; 304
®) smuol solukion GNLYAL s Qludto

X= \?90. Hlon ,'bﬂa\f ¥ o0 ,(\65: X~a % + 5(,0,\0,304’f3(,m' N el
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10. Use an algebraic approach to solve the following equations on the specified domain.

O a) 2cosx—-1/2 =0 b) cscx+2=0 ¢) V3tanx=1 JanX= [ 3
for2nsx<0 for2n<sx<6x for-xsxs3x TMNT—e—=

3X= 3 g \H g X = - &, s\ -} o
n ! { e
EY e QL3 ret ¥

veb -0 LX£3T y-
T Oéxfo\n,x(’.vﬂz on DEXZAT x LA g
on 0éx &g x= T aT-L o =T T
‘\ 1 - 'ﬂ\' ,1“"% T ) n
=T 7 X =10
E L I add [swhivad grictsol T

subfvatk pmodo(' JW ol rlods ot i X--3U T qr3r

X=-10 -T -\ﬂﬂ”;ﬂ' 3\Tl’35u' b'%' L' b.
11 Y b ! %
11. Determine the general soluuon,mdegxm,ofthe equation
a) sinx=0 Q |- vefl=0° b) cosx=0 Q-4 vedL-9p°
on O£ XE 360°, x= 0,180 307 n 07t x L 360", X2 907, 2707

MLSO(LL\"‘M on XY= %1200 net
80‘& Y= §ok €T WMSQMhnX 90 +130n n ]

12, ThegenualsoluuontotheequanoncscA+2-0is
A. A=Z +nm nel | csCh=-3 Y.
B. A=Z +2nm, 5—"—+2m neEl QSM Vet “76

on 0= AL QAT A=W+_n: &T’I“;

6 6
C. A-%‘ n:r,%ﬂm nEl
7 11 h --l“_ W
n n o -——-
A=— +2nx, — +2nn, n€l
6 6 o=y T O b
13. In simplest form, the general solution to the equation /3 cot 8- 1 =0 is
n
A. 9=% +nm n€l whe =L | fond> {3

>

B. 6-% +2nn, 7T”+2na n€l Q\[3, YH"-T%

@ 0-%+m, nel . N 056& 3“-, 8= E/W*E
3' 3

O D. 0-%+2mr,%u+2mr, nEl . 6:1\"'“{‘“'/3
k)
griod=T
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14. The only solutions to a trigonometric equation on the domain 0 < x < 2x
O . amx-% and x-%. An equation that has these solutions is

A. 2sinx+y/3 =0 SO x-’i} @3l{ 9 /X’%ﬂ‘ ¥ X"‘%r

B. 2cosx+1/3 =0 Cbsx s ’E Y‘PL"’.‘T/Q |(\Q&*l'3 N\*}\
. P
C. 2sinx+1=0 sinyz -\ a 5” ﬁ_o “—'\' MS\QE

D. 2cosx+1=0 2 3
- sk >4 b= T I

. X ®
NIESESN1S. To the nearest degree, the solution to the equation 8 cot @=—1 in the interval —2 P \oCh \d \%0
" 540° = 6< 720, is .
£e £ \30° , ,
your answer in the numerical response box from left to right.) 6 3

cote= L Y+ = §3°
ng = -y 93,8503 =47
Answer T +3(180°) = 637°

1. a) Find the x-coordinates of the points of intersection of the two graphs.

I NN

b) x-;,l;f . c) x-g-+m.s—;+2nu.n61
O . R Sx F
2. a) Find the x-intercepts of the graph. b) x-I.T c) x-;wm.n&l
3. a) x-i;-.% 4. a) x-?+2mt,%+2mt,n€l 5. a) x=093,x=536
b) 1.2.2 . b) x-ﬂ-flm.nE'l b) x=189,x= 503
4 4 4
¢) x-f,-sf c) x-£+2m¢.5—“+2mt.nEI ¢) x=034,x= 2380
3 3 3 3
6. a) x=093+2n%,536+2nn, nE1 7. a) 1-4—;.%
b) x=189+nx, nE€1 b) x-s—:.%
€¢) x=034+21%,280 +2nx, nE€1 c) x-%.%ﬂ
4n Sn
8. a) x-?+2m¢.T+2mt.n€l 9. a) x=130°+360n°, 230° +360n° nE/
b) x-%"-o-nu.nél b) x=236°+ 360n°, 304° +360n° nE/
. c) x-%-o—bm.%q-m,nEI
lo.a) x-_z‘_ﬁ b) X = ﬁ'.zs_u‘_&.gﬁ . c) x--ﬁ,ﬁ'z'ﬁ
4 6 6 6 6 6 6 6 6

11.a) x=180n°,nE€1 b) x=90°+180n°,nE€ 1l
O 12. D 13. C 14. D 158. 6 3 7




